1 Simplify ete+tet+tete

Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.
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(Total for Question 1 is 1 mark)

3
2 Write Z as a decimal.

(Total for Question 2 is 1 mark)

3 Change 60 millimetres into centimetres.

lw = IOmm
Bc_m < éOmm

4 Write down a multiple of 8 that is between 25 and 35

8 16 24 32 4O
v

(Total for Question 4 is 1 mark)

5 Angle 4 is 53°

What type of angle is angle A?

....................... Acote

(Total for Question 5 is 1 mark)
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6 Samina works in a shop that sells pens.

The table shows the number of blue pens and the number of red pens Samina sold in
each of three months.

Month Blue pens | Red pens
April 33 20
May 40 14
June 27 15

(a) Work out the total number of blue pens and red pens Samina sold in June.

27 ¢ 1S

552\

LEmC]

1)
Samina says,
“In these three months, in total, I sold more than twice as many blue pens as red pens.”
(b) Is Samina correct?
You must show how you get your answer.
Bue 23¢k0«27 = IO
—
Q ED 20 ¢ ¢ S < 49
—_—
Axred = 4Ax2
= qg
Samna. 1s comeck 100 > A8
3)
(Total for Question 6 is 4 marks) y
3
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7 There are only 10p coins, 20p coins, 50p coins and £1 coins in a bag.

The bar chart shows information about the number of 10p coins and the number of
20p coins in the bag.

14

12

10

oo

Number
of coins

10p 20p 50p £1

Coin

There are eight 50p coins in the bag.
There are three £1 coins in the bag.

(a) Use this information to complete the bar chart.

(2)
(b) Show that the total amount of money in the bag is less than £10
12x10p = £1:20
: A1-40 TOmL V20«
1x 20p £ — .0

g » SQp £ e Lg
dx £1 £3 Q.60

"

£a-60 ¢ £.10

3)
(Total for Question 7 is 5 marks)
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8 The diagram shows two sides of a kite.

//

N

(a) On the grid, complete the kite.
(1)

(b) What is the mathematical name of this solid shape?

(Total for Question 8 is 2 marks)
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9 Greg is x years old.
Greg is 5 years older than Katy.
(a) Write down an expression, in terms of x, for Katy’s age.

G K
x xX-5

Carl is twice as old as Greg.

(b) Write down an expression, in terms of x, for Carl’s age.

& C
oc L& I

(c) Solve 4y=12

- 1
d L

=3 (1)

(Total for Question 9 is 3 marks)
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10 (a) Write 23619 to the nearest 1000
23000 € 25000
1)
(b) Work out an estimate for the value of 5.9 x 98.1
qQ & 6
54 so bxI00
Ct8-l A 10O = 600
____________ 0.
(2)
(Total for Question 10 is 3 marks)
501 L . 2
11 (a) Work out e % 8
5-2
& 8
. 3
3 3
44444444444 B o
(2)
(b) Work out % of 40
L . KO :5 =8
5
sod . B8x2-<16
& 6
(2)
(Total for Question 11 is 4 marks)
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12 Here is part of a train timetable from Liverpool to Birmingham.

Liverpool 0807 0847 0907

Runcorn 0825 0903 0926

Crewe 0853 0922 0955
S——>

Stafford 0911 0951 1014

Wolverhampton | 0930 — 1031

Birmingham 0950 1034 1050

(a) Which train should take the least time to go from Liverpool to Crewe?
You must show how you get your answer.

0803 hows Takes 93-7 = A6 mms
083 fawn tokes 13+22 = 35S mins
0a03 hauntokes S55-7 = 48 mins

Jhe 6847 tain tokes Hu leost hme .

3)

Rose gets to the station in Wolverhampton at 09 25
She wants to catch the next train to Birmingham.

This train is delayed by 35 minutes.

(b) How many minutes does Rose have to wait for the train?
W. 0425 = 6430 traun de'%cd onh |
10:0S
O toats fam ALS nhil 1I06S
( 25+ 5) = KO

L[O ........................... minutes |

(2)
(Total for Question 12 is 5 marks)
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13 Here is a number machine.
input ——» x3 ) > -8 output
(a) Find the output when the input is 6
bx_3 .1 18'-8:[0
444444444444444 1 & 2
1)
(b) Find the input when the output is —11
«— ~itt8:=-3
-323:=-1
B
(2)
(Total for Question 13 is 3 marks)
L J
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14 Aroad has a length of 1.6 kilometres. = | &ECOM

The road is shown on a map with a scale of 1:20000

£,

Work out the length, in centimetres, of this road on the map.

map rood
lemn = 20030 em \OCoOm = Im

s lerm = 280 m
x 8 Ly
&m léOOm
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(Total for Question 14 is 3 marks)
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15 Work out 1.35 x 48

| 35
\o§o" 6L:80
2
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(Total for Question 15 is 3 marks)

NN O AR o
P 7 6 4 06 2 A 0 1 0 2 0




/i . >
<BES
X : < A“;> /
o
/'" ;’ /
S5
: ‘ /'
8%

9:5¢%
Sos
: ?,*'
5%
0

<

RE/

R

NRITEIN

3%

O

0 *0 70°
D C B

AED and BCD are straight lines.
ED=EC

Show that EC is parallel to 4B.
Give a reason for each stage of your working.

EDC - eCD 180 kO < O
2.

gasecuales \n an \sosceleslfr\afalea:eeqcn)

s0ECD - ASD lecowse correspordu@ar@lw
ose. eme n pafa.llellmes.

(Total for Question 16 is 4 marks)
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17 Sam wants to use this recipe to make 15 pancakes.

5' Ingredients for 10 pancakes 1S m/\mle-s

ICO -2 - 509 100 g flour < 508
e = Te'S) 200rgnl milk \CO + 50 ..l
200+ g 40 buter 200+100 = 3CCg
;'0.22 :lez% 2 eggs 20 + 4O :668
4 2L+l =3 .
Sam has % %8.5

200 g flour

250 m/ milk
70 g butter

Seggs

Does Sam have enough flour, enough milk, enough butter and enough eggs to make
15 pancakes?
You must show all your working.

Has 20Qg Mour needs 15Q9 v
has 260me melk needs 3COML x

has Qg boHer needs 66@\/
has 5@95 needs 3%5‘/

Sam deeo mtmauﬂunm,mm

enopgh Ptoor,buﬂua/d@as.

(Total for Question 17 is 3 marks)
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18 Here are the heights, in cm, of 12 children.

146 135 142 150 138 149

152 146 137 154 147 144

Show this information in a stem and leaf diagram.

13158 %
4l 2963 4
isloZ L

13 S 3
‘e |2 4 6 ¢ 39 ey 13|85 =135
19 |02 4

(Total for Question 18 is 3 marks)

19 Find the highest common factor (HCF) of 54 and 120

®/ SL\P:’ t?—/'m\‘O
2
@{ %i /4/<§<$ é§

(Total for Question 19 is 2 marks)
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20 There are only red counters, white counters, blue counters and green counters in a bag.

00008
XHXRKK

Chris is going to take at random a counter from the bag.

5RRRK

The table shows the probability that he will take a red counter and the probability that
he will take a white counter.

RIS

Colour red white blue green \
0
o
Probability 0.3 0.1 O L 0 -2 3

VIUV SIHLNIILMIONOG

SRS

: O
There are twice as many blue counters as there are green counters in the bag.

5888

(a) Work out the probability that Chris will take a blue counter.
0-3«01:64
L-0'L =06

Boc:0'6
2:02 O 4
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There are 45 red counters in the bag.

SO
K

(b) Work out the total number of counters in the bag.
03 : 45

+J 3 s

E

R[] x O

130

SOOI

.
C 4
1"
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(Total for Question 20 is 5 marks)
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21 (a) Complete the table of values for y=x"+x—4 O “+ C) -~

'

v |2 -2 | 4 k-9 1&217*.2—1;
N Va :
G0+ (-2)-4 oL

(2)
(b) On the grid, draw the graph of y =x"+x—4 for values of x from —3 to 2

Seusgyaph mpsy vagy sigiel

(2)

¢) Write down the coordinates of the turning point of the graph of y=x>+x -4
(c) gp grap y

¢ coordancde = -0°S 05 -4-25

(Total for Question 21 is 5 marks)
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22 There are 280 chocolates in a box.
There are only dark chocolates, milk chocolates and white chocolates.

1
7 of the 280 chocolates are dark chocolates.

The number of milk chocolates : the number of white chocolates = 1:3
The number of white chocolates : the number of dark chocolates = n: 1

(a) Work out the value of .
You must show all your working.

280 D M W

\ Y,
1ol 280 e
3 286 - 4O

204

= 80 =1 = 2O = 60

* kO Mm: W|Torac
I, ke
x60 x 50 QNO

AATO W :D 60: 180
— 180: KO

1 10

'8 ' 4

qQ : 2

L-S: | SON:=AS - 40

10 milk chocolates from the box are eaten.

(b) Does this affect your answer to part (a)?
Give a reason for your answer.

AAAAAAAAAAAAA No, becavse the nomber of white and.
................. douk. chocolates does not chopnge .

L1260

(Total for Question 22 is 6 marks)
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23 Work out 5.7 x 10°+9.8 x 10’

Give your answer in standard form.

51x 10t - 970
6 970 +
800 186396
106
.......................... 031 x IO%
(Total for Question 23 is 3 marks)
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24 AB, BC, CD and DE are four sides of a regular polygon with 7 sides.

BCX is an equilateral triangle.
CDYX is a square. LX t&r 1of
Work out the value of n. = ‘ 80 - ‘ s

You must show all your working.

=12

le

so nomby ofsides n = 3O =3O
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(Total for Question 24 is 4 marks)
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25 The straight line L is shown on the grid.

YA
4
<3r0Ldlent = dhaq\c}e N
. change Nz«

/
lwo

<V

0 1 2 3 4

Find an equation for L.
Give your answer in the form y =mx + ¢

(Total for Question 25 is 3 marks)

Turn over for Question 26
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Work out 2¢ + 3d
Give your answer as a column vector.

a(3)«3(2

;Cu*(a
8

L +6
¢ t-3

"

U
@2

(Total for Question 26 is 2 marks)

TOTAL FOR PAPER IS 80 MARKS
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